EST Revision

Quadratic Equations

2. Whj9ch of the following is
the ordinate of the vertex
of the function f(x) = 2x* -

8x+ 37 ‘/'f/ %:2(7—
Q=1 v~ ga +3

B) 0.5
33
C) -5 iy
D) -8
x-2x-1=0

The equation above has solutions x = n + Yk and
x =n~ Jk, where n and k are positive integers.
What is the value o@

a =1 _br{g-wec
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—b=-%v
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- ——————
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@ X +ix-2=0
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The solutions to the quadratic equation above are a
and b. What is the valueof a + b ?

5
A) —— | Z_ =
) 3 7524'!}’9(’{ =
|
N
) 3
0 =
3
S
D) —
3
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2 - =,
x“=ldx+40=2x+1

What is the sum of the solutions to the given

equation? 2 Jyse = 2% * Yo-/=c¢
A) -16
2. J6x +37=¢
B) -14 >3
C) 14 o T 3
D) 16

What is the sum of all values of m that satisfy

2m* ~ 16m +8 =0 ?
T T

&
A) -8 Mt-— 2 +4 0O
B) -43
C) 4V3
D) 8
y=12—6x+8

The equation above represents a parabola in the
xy-plane. Which of the following equivalent forms of
the equation displays the x<intercepts of the parabola
as constants or coefficients?

A) y-8=x2-6x

rost 3, X - }Q*,So'

2 (x4a) (r-b) ==
B) )'+ l - (x— 3) ("‘h)l'/( _‘wfc,/t",/«*
C) y=x(x-6)+8
" D) y=(x-2)(x-4)
:-A.,?.a.x’*"”*c i - St xRl z0
2 _5/;?:' g o
o -~ Jon oo =2
& b-wk f,./. 6
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11. If i =41 which of the
{ following is equivalent to
. 2+(: - '3(2-&2\
-———-?x . - 9,_é -
2 =3 (24 )
A)E(ZH) Y+
3 = %
 — (2
@ 2o
Cy-2-i
)2 +1

Which of the followg complex numbers is

e -2
21 % (Note: i ¢=T)
8+21 ——

8-2
3 5 &j :

equivalent to

8 2
2y £ -‘f°¢'+/o@

3 5 —_—

st2 e

7  23i

37 W, BT
&Y +4

7  23i .

D) _+._'. _Uudt

34 34 Ri

§3
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2+ L e

L
-2 siisz

- ‘ ¥>¢__r
( =~ If the expression above is written in the form
@ + bi, where a and b are constants, what is the

>

(=1 value of b? A
.\t-(;) A) -i @4 W(+3242
s VB o
( 4 .
B) 3
- {2 a3 i+t
C) "‘i'3' == Y
7
D) i3
-y 7t
-,3
o)
- i ¢

In the complex number system, which of
the followigﬁ_jﬁg equal to

3i(1+i)=1(1=i)*?
(Note: L =—1)
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In the xy- plane the graph of

2x - 61 + __z *_l 45 is a circle. What is the
. 3
radius of the circle?

xz-)l,Ox - y2+-9y =2

The graph in the xy-plane of the equation above is

a circle. What are the coordinates of the center of the

- ——

circle?
Jo . &
A) (‘S. “3) ,‘—"—L— ’ 3
B) (-5, 3)
@(S"'” (6 )-‘3)
D) (5,3)

2 A
Thegraphofx2-4x+y + 6y — 24 = 0 in the

xy-plane is a circle. What is thf the circle?

— 7(,-‘4;""‘5*(\5 24

Circlb- x
"————ﬁ Q’;\\{\:C

Ix-EQKETT | 5 raxsyiabasC
Con*e il C(:’?’/—fi’\
edis= A= ( = X(%)“«» (=) +C
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Which of the following equations describes a circle
with radius 10 that passes through the @ hen

graphed in the xy-plane? ( )¢ )
)Q (x-5)* + y+5)" TH. = (
2
(o-5) + (645) = So ?
X (x-5)°+(y+5)" =100 "U°>
(o-l) ~ 4/04’)’ are = /s,_,

L', (x—- 10)% + (y = 10)* = 100

@ (J:-Sv"‘]_f')2 + (y+5ﬁ)2 = 100

x2+y2+§_x-;}y='-l

The equation of a circle in the xy-plane is shown
above. What is the radius of the circle?

& 2 ] -
B) 3 (£) () 1)

C) 4
D) 9 S

xz+2?0x+y2+ 16y = =20

The equation above defines a circle in the xy-plane.
What are the coordinates of the center of the circle?

A) (~20,-16)

@D (-10,-8) 2o
C) (10,8) o
D) (20,16) o
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Which of the fullowing is an equivalent foem of Wihich of the following s cqud V.. for 4l valisee
{,’fﬁ"k:.where f>0and k>07 of a?
! {a = 1
-3a 3.~ ( A) Va
A) 77k ﬁ / " & 2
% o3 B) Va’
B) f24k?
&/ 2a 2 T
ﬁ = C) 'lal
C) %! F
If3%.V3'=9%% thenx = 1§27 = 3%, what is the value of x?
(3 >
A. 4 i %%’ ) A) 7 I =
B 2 "Y' ° B) 84
/12 : 100 3(-30 = X
"3 '.-3/
D =7 = ) 203
g /;7\9
L~
| x| )
,/‘% :\3\)( prﬁg 2
15
l
1f (12“3) == xh,/ﬁ\enwhattsthevalue of a?
2 (2a-3) v
. = X
/)\
A
Ya-0b *
Yaz=*°
d—;% 0:5
1
L x " S
o T
= 52 \‘ >
f - X %
/
7‘1 ,S o
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System of equations

For the folution (x, y) to thg system of equations
above, whRat is the value O
=%

A) 4 R + 3% =
3 } A £39=%
w
B) % 2. \
‘\3}
4
C - 2
b3 S
e, L
D 2 ~x= %
3
@ 2%x+ ‘3‘-:“
q‘({t-oy:?) @21_ xg'
2x-7y=1 ‘307( ——

If (x, y) is the solution to the given system of

equations, what is the value o@ Gﬂ CJ "5

. beo
9(';;;
x-
®x+2y= 0
2x -y =5

The solution to the given system of equations is
(x, y). What is the value of 3x + y 7

A) 5 S
3z AWy =
B) 7 ?

13

C)
o
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o
1 3+3
oo -Q‘.Sfb’:g 51“}"—'9
3 I P— e —
N -60x + 12y = -108

How many solutions does the given system of

: ? 1
equations have? 5 -1 e
6o °
A) Zero
B) Exactly one &l -1
C) Exactly two '

@ Infinitely many

2x + 3y
13 ¥ "")_ X2
+cy=8

In the system of equations above, ¢ is a constant. For
what value of ¢ will there beno solution (x, y) to the

system of equations?

% 3 22
RGP,

A farmer sold 108 pounds of produce that consisted

of z pounds of zucchini and ¢_pounds of cucumbers.
The ‘armer sold the zucchini for $1.69 per pound
and the cucumbers for $0.99 per pound and collected
a total of $150.32. Which of the following systems of
equations can be used to find the number of pounds

of zucchini that were sold?

e z+c =15032 JZ +C= (e

3 Y4
il 7

1.69z + 0.99¢ 108
z+¢c = 108 46?%
1.692 +099¢ = 150.32
C) z+¢ = 108
099z + 1.69¢c = 150.32
w) z+¢ = 150.32
0992+ 1.69¢c = 108
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